Your Name _________________________________
CS5/386   Fall 2009 - ANSWERS
Quiz 5   

1.[50] Is this schedule conflict serializable or not?  Briefly justify your answer

[image: image1]
ANSWER: To determine conflict serializability we draw the precedence graph.

The pair T1:W(X) and T3:R(X) gives an arc T1(T3.  The pair T3:W(Y) and T1:R(Y) gives an arc T3(T1, so the precedence graph has a cycle and the schedule is not conflict serializable.  (The pair T1:W(X) and T2: R(X) gives the arc T1(T2, but that is not relevant.)
2. [50] Here is a database log.  Describe the actions of a recovery manager after the crash.

[image: image2]
ANSWER: 
UNDO T2: Write 4.0 to B
REDO T1: Write 20 to A
























T1, A, update, 10, 20


T1, commit


T2, B, update, 4.0, 5.0


CRASH





T1: R(X), W(X)				R(X),  R(Y)


T2:		          		W(Z), R(X), 


T3:		    R(X), W(Y)








